PISCO.

http://www.PISCO.CO.jpP

W E-1) Barb Branch Tee -
E1 >
2-E2 5
1 2'C (@)
T [H =
s (TUTs 3
N f“i g N =) 3
: 1 S
- @ SH]: ZHE{E c{I <
MCIF £
< R m
Unit © mm
LB-0320-M3[] 5 M3X05 22 | 115 | 93 6 176 | 875 | bb b5 2 1.0 0.5
LB-0320-M5[] M5X0.8| 3.2 16 12.8 20 10 7 8 53 1.2 0.8 _
LB-0425-M3[] o5 M3X05 22 | 115 | 93 7 196 | 975 | b5 55 2.1 1.0 0.5
LB-0425-M5[ ] ~ [M5X08| 3.2 16 12.8 22 11 7 8 b4 1.6 1.2 -
LB-0640-M5[ ]| 4 [M5X08| 3.2 16 12.8 7 22 11 7 8 6.5 1.8 1.5 | TFMF-002 %%
% 1. [[] in Model code / Replaced with “C” for Clean-room package %;
% 2. Be sure to place Tube Clamp Sleeve on the edge of outer tube in order to avoid the escape of tubes. "’E
RLAYN) Barb Union Straight
B
20
-
- o | =
S J s
Unit * mm
LU-0320[] 2 13 6 4 0.4 1.2 0.9
LU-0425[] 2.5 15 7 5 0.6 1.6 1.7
LU-0640[] 4 15.6 7 7.5 1.8 2.4 3.8
% 1.[]in Model code / Replaced with “C” for Clean-room package
% 2. Be sure to place Tube Clamp Sleeve on the edge of outer tube in order to avoid the escape of tubes.
BLEcH) Unequal Barb Union Straight
B
E 7
‘_,_.pw""".‘-p " Ql /7H/H/H 51 o Minimal
QL Series
Q oy ®
\\U\U\H Stgofx1twng
Unit © mm [
Rotary
Series
LG-0425-0320] 2.5 2 14 6 5 0.6 1.2 0.9
LG-0640-0320[ 4 2 14.6 6 o5 1.5 1.2 0.9 Block and
LG-0640-0425[] 2.5 16.6 7 ‘ 1.6 1.6 1.7 Comectr
% 1. [J in Model code / Replaced with “C" for Clean-room package Coupling

% 2. Be sure to place Tube Clamp Sleeve on the edge of outer tube in order to avoid the escape of tubes.

CAD data is available at PISCO website.




